2 % 16.036 + 7.6 T Fo] ThE A2 o AJY7R?

D 160.36 ~ 76 @ 1.6036 +0.76
® 1603.6 = 760 @1603.6 +76
® 0.16036 + 0.076

16.036 = 7.6 = 160.36 = 76 ©] 1L
@ 1603.6 ~ 7.6 = 16036 ~ 76 °]O.2 Zo| t}2r},




TR UReAle AT 02 Shure AL ol A1 BEA Q.

4.1)16.7
16 4
3

O 41x4+4+3=16.7 @ 41x3+4=16.7
@4.1x4+0.3: 16.7 @ 41x3+0.03=16.7

® 41x04+0.3=16.7

U= 0.3 guth
wetA 16.7 4.1 =4---0.3 0]B2
ke AXAS 41x 44 0.3 =16.7FY T}




ofH 7] o] B AL 66.83kg 0] 1, 40 BRAL 35.7kg YU T of
H2]0] F5 A 4o FRA of 2l 1A] vk Rste] g A
2|7 FsHA L.

> g o

> He oF19H]

1.87 —1.9
35,7,66,8,30

357

3113
28 56

25170
2 499

71




4. 2964 B oW 5= Uiro] $& 4% 54 A7 TRy Fol
478 o131, el A7} 0,004 o] A5 T o] @ S Ankelx] Fo}A
Q.

@ 5.8 (@)6.2 ® 624 @65 © 6.64

oAd 5[ |2} i@
29.64 +[ | =4.78---0.004
[ ]=(29.64 - 0.004) + 4.78 = 29.636 + 4.78 = 6.2




oS =39 Yol 40.8cm? ¢

TSHA 2.

| 2
> & E. 62cm

85X 3.4+ 2=14.45(cm?)
40.8 - 14.45 = 26.35(cm?)
26.35x 2 = 8.5 = 6.2(cm)




